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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of -----—----- who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3 treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3} zenith 4) distraction

3- Jackson’s poor typing skills were a -----eee-- to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3} confirmation 4) versatility

4- The judge dismissed the extraneous evidence because it was not ------—---- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a ---------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be -------——-
the job. Many industrial diseases mimic sickness from other causes.
1) attributed to 2) precluded from 3) refrained from 4) exposed to
7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued
8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output
9- Before the invention and diffusion of writing, translation was ---------- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous
10-Public attitudes toward business regulation are somewhat ---------- ; most people resent
intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your ans

The variety of successful dietary strategies (11) ---------- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) -=-------- underscore complex
carbohydrates and fat restriction. The fact tha: both these schemes produce weight loss is not
surprising, (13) =--------- both help people shed pounds through the same basic mechanism:
(14) -----——--- major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ----=----- —your body begins burning its fat stores and you lose
weight.
11- 1) employed 2) are employed 3) is employed 4) then employed
12- 1) those that 2) the ones they 3) that which 4) they
13- 1) in fact 2) although 3) likewise 4) because
14- 1) limit 2) limiting 3) which limit 4) with limiting
15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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PART C: Reading Comprehension
Directions: Read the following four passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on

16-

17-

18-

19-

Passage 1

Sound travels in waves through the air like waves through the water; the higher the
waves, the greater its power. The waves are alternative rings of compressed and rarefied air
moving away from a central source at a constant speed. As each wave of first compression
and then rarefaction encounters an object, it exerts a force- a push and then a pull on the
object. That is why sound can break a glass or cause a screen to vibrate.

The greater the number of waves a sound has, the greater its frequency is. The strength or
intensity of sound, sound level, is measured in decibels (db.). The decibel unit is named after
Alexander Graham Bell, the inventor of the telephone and an important researcher into the
nature of sound. Because hearing varies widely, what may seem loud to one person may not
to another. Although loudness is a personal judgment, precise measurement of sound is made
possible by use of the decibel scale. This scale of Sound Levels and Human Response
measures sound pressure or energy according to international standards.

During a loud thunder storm, a window rattle because --------------

1) lighting strikes the glass with force

2) the sound of the rain is heard through the glass

3) the air is colder on one side of the glass than on the other

4) the claps of thunder create powerful sound waves that exert pressure on the glass

Sound waves move outwards from a central point at -~------------

1) a steady, continuous speed 2) greater and greater speeds

3) a speed of 1.181 kilometers per hour 4) varying speed

It can be concluded from the passage that -------veaeu-

1) everyone judges loudness the same way 2) sound has no physical effect on any object

3) sound waves can be measured scientifically 4) the decibel scale is a purely subjective device
It can be inferred from the passage that a sound measured at 100 decibels is louder than

1) any other sound ever measured 2) a sound measured at 80 decibels
3) a sound measured at 110 decibels 4) the machine measuring it
Passage 2

The word laser was coined as an acronym for Light Amplification by the Stimulated
Emission of Radiation. Ordinary light, from the Sun or a light bulb, is emitted
spontaneously, when atoms or molecules get rid of excess energy by themselves, without
any outside intervention. Stimulated emission is different because it occurs when an atom or
molecule holding onto excess energy has been stimulated to emit it as light.

Albert Einstein was the first to suggest the existence of stimulated emission in a paper
published in 1917. However, for many years physicists thought that atoms and molecules
always were much more likely to emit light spontaneously and that stimulated emission thus
always would be much weaker. It was not until after the Second World War that physicists
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began trying to make stimulated emission dominate. They sought ways by which one atom or
molecule could stimulate many others to emit light, amplifying it to much higher powers.

The first to succeed was Charles H. Townes, then at Columbia University in New York.
Instead of working with light, however, he worked with microwaves, which have a much
longer wavelength, and built a device he called a "maser," for Microwave Amplification by
the Stimulated Emission of Radiation. Although he thought of the key idea in 1951, the first
maser was not completed until a couple of yzars later. Before long, many other physicists
were building masers and trying to discover how to produce stimulated emission at even
shorter wavelengths.

The key concepts emerged about 1957. Townes and Arthur Schawlow, then at Bell
Telephone Laboratories, wrote a long paper outlining the conditions needed to amplify
stimulated emission of visible light waves. At about the same time, similar ideas crystallized in
the mind of Gordon Gould, then a 37-year-old graduate student at Columbia, who wrote them
down in a series of notebooks. Townes and Schawlow published their ideas in a scientific
journal, physical Review Letters, but Gould filed a patent application. Three decades later,
people still argue about who deserves the credit for the concept of the laser.

The word “coined” in line 1 could best be replaced by -------eemneo--

1) created 2) discovered 3) mentioned 4) understood
Why do people still argue about who deserved the credit for the concept of the laser?
1) The work is still incomplete.

2) The researchers’ notebooks were lost.

3) several people were developing the idea at the same time.

4) No one claimed credit for the development until recently.

The word “emerged” in line 20 is closest in meaning to ----------------

1) appeared 2) concluded 3) increased 4) succeeded
Why was Town’s early work with stimulated emission done with microwave?
1) The laser had already been developed.

2) It was easier to work with longer wavelengtas.

3) He was not concerned with light amplification.

4) His partner Schawlow had already begun work on the laser.

“Intervention” in line 4 can best replaced by

1) device 2) need 3) source 4) influence

Passage 3

We put fuses into electric appliances to make electric appliances safe. Radios, television
sets, heaters, and refrigerators are all electric appliances. These appliances have fuses.

A fuse is a small piece of wire. When too much electricity tries to pass through the fuse,
it melts. When it has melted no electricity can oass through it.

When there is something wrong with an zlectrical appliance, too much electricity may
flow into it. When there is a fuse in the appliance or in the plug, the fuse will melt. The
electricity will not be able to cross the broken fuse wire, and the appliance will be safe.

Not all fuses are the same size. Some appliances need more electricity than others. An
electric heater, for example, will usually need a current of 15 amps. A radio will need only 5
amps. Fuses must be the correct size for the appliance. When a fuse is too small, it melts too
quickly. When a fuse is too large, it does not melt quickly enough. Then the appliance may
get too much electricity and it is' not safe.
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When does a fuse melt?

1) when the appliance is hot 2) when the electric current is too small
3) when there is no electric current 4) when the electric current is too large
When is an electrical appliance not safe?

1) when the fuse is too big 2) when the fuse has melted

3) when the fuse is too small 4) when the fuse is in the plug

Why are fuses important?

1) They are pieces of wire 2) They need a lot of electricity

3) Electricity cannot flow though them 4) They keep electrical appliances safe

Passage 4

The Hubble Space Telescope is high above Earth. It is a telescope in space. Hubble takes
photos of planets, stars, and other space objects.

Hubble has been in space since 1990, but now it is better than ever. Astronauts make
repairs and add parts. One of the parts is a huge camera. It is able to see deeper into space
than ever before.

"This last mission to Hubble was the most difficult," says scientist Ken Carpenter. "It was
a success because of the hard work of the astronauts in space and workers on the ground.
Now Hubble is the best it's ever been!"

How does Hubble take so many great photos? It has a great view! It is in orbit 350 miles
above Earth. An orbit is a path that a space object travels around another space object.

The recent repairs to Hubble were the last. Scientists say it will work for at least five
more years. Hubble will be replaced by the James Webb Space Telescope.

Where can the Hubble Telescope be found?

1) in pictures on NASA TV 2) in orbits around the Earth

3) in a museum in New York 4) on a highway in California

The author most likely wrote this passage in order to ------=-=-==-unv-

1) describe photos taken by the Hubble telescope

2) teach astronauts how to fix the Hubble telescope while floating in space

3) inform readers about how astronauts made the Hubble telescope better.

4) persuade scientists that the James Webb telescope is better then the Hubble telescope.
The word “mission” in line 5 means:

1) a group that is sent to another country 2) a job that needs to be done in space

3) a letter sent from one person to another 4) a reason to do something or make something
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RL= 100 to 1000 ohms
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